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0900 baas ) aliws (s)lw o3l

X = float(input("X= "))
Y = float(input("y= "))
if X >V

A = X+Y
elif X < V:

A = X-Y
else:

A=X
print(A)
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0900 baas ) aliws (s)lw o3l

x = float(input("x=
if x < 0:

y = x+1
elif x < 1:

y = -(x**2)
else:

y = 1/x
print(y)
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a = float(input("a= "))

while a == 0:
print("variable 'a' should not be zero.")
a = float(input("a= "))
float(input("b= "))
float(input("c= "))

= (b**2)-(4*a*c)

if D > 0:
x1 = (-b+(D**0.5))/(2*a)
x2 = (-b-(D**0.5))/(2*a)
print(x1)
print(x2)

elif D == @:
x = (-b)/(2*a)
print(x)

else:
print("No real root")
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0900 baas ) aliws (s)lw o3l

0
= 3*%%9.5
I in range(1, 101, 1):
print(T)
S = S+4T
T = (T+3)*%0.5
print(S)
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0900 baas ) aliws (s)lw o3l

print(1)
print(1)
F1 =
F2 =
for I in range(3, 51, 1):
F3 = F2+F1
print(F3)
F1 = F2
F2 = F3
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0900 baas ) aliws (s)lw o3l

int(input("N= "))

1

I in range(1, N+1, 1):
print(a)

a = a+l
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0900 baas ) aliws (s)lw o3l

in range(0, 1001, 1):
= K*(1/((2*I)+1))
print(A)
S = S+A
K=-K
print(S)

Q
=1
I
A
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